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1. 39bLB3MG BM6J300L BIOOMBOMO BoBOO s FMBI300L JEOSLEHOIMOIMDS.
Bo3Mogoe0dgm §o6dmgdmeols 3gmdg@®oeo  dobss®lo. Bsfgmgo gowgmol Hoisbgo
B3m0L Loboo (2+1+1=4 Jmens)

2. OHmob 9hmgds x =b §9hHGHowl f(x) BmbJgool wmzserm@o dobodwdol
DoOGoo?  Bsdmogoodgm  HoMdmgdmeol  Lsdmsegdom  g(x)  g9bdgool
50mBb7JoMds-PsBbgJomdol  Fmoeggdol ogbol fglbo.  GmaMmO BmbJzosl
9Pmgds W(x) 8wbdi00l 30639ce@0 3mbJ30s? ( 1+2+1=4 Jms)

3. ©ghgm OHDMEo 6mIobscrmMo  sMoEbzol d90mbggzedo Lodmermm msbbol
390mbYM3Wgo  RMOIMWS, vy Lofyobo  msbbos 4y, fwom®o  LoaddmEgbdm
3965339005 5, Bmwm sMosbzs begds Fgwofsdo 9dalixgm. ©sfigMgom s sbbgboom
Bom@mb-eo0dboiol  BmOIMs. BodMogo0dgom g(x;y)  gmbdsoobogzols
(x0; ¥0) §90G08o 9duBH®d1aol sOLYOMIOL LozdoMolo 3oMmds.  (1+1+2=4 Jwyms )

y= 3x7sin6x

4. 0339, 8996d300L OxYMIb3E0swo . (3 Jmes)

5. ®5 «030M9L0 RsOOMMOOL Jmbg  Bsboeobsh Fgodergds sdBIEIL 1—16 a°

}H9350Md0L FoMMIMMbs 3565930390l BMMTOL 3005 53%0, MHMIOL §vdY
335QM>H0>? G Jows)

3
6. 03mggm f(x) = x — S 299643000 gMo83030L sOT3EHMGHYOO. (3 Jmams)

7. 258mmgsmgm 0b@gatswo: [(5% —3xcos7x)dx (4 gmws)



8. 259mm35wgm 08 B0YYOHOL BSOPNMDOO, MMIGE03 G90mLsBEOIOIOos 9090
fodgooo: xy=-10, y=0,x=1, x=4. 559,90 dgLsd530Lo Bobabo. (4 Jmems)

9. 36m©MJ3ooL x 9HMgMol Fomdmgdol @sbsbotxo Fsy9bl C(x) = 3xvVx + 10
WML, oo GHmos 3060390 81 gMmgMo 3MmEJ3ool §omdmgdol Lsdwmommem

bbby 0? (4 Jmems)

10. 03m390 3Mbdi00L 9duEcgdmdgdo:

foy) =—xt*—32x+y3—12y+7 (5 Joams)



